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	GRAPHS AND EQUATIONS
	(
	(

	
	I can draw graphs of harder quadratic functions such as y = x2 + 3x -5
	
	

	
	I can use graphs to find the approximate solutions of quadratic equations
	
	

	
	I know that each equation can be represented by a line on a graph and that the point of intersection of the lines is the solution
	
	

	
	I can use the points of intersection of a quadratic graph such as y = x2 - 2x - 4 with lines such as y = 2x + 1 to solve equations like x2 - 2x – 4 = 2x + 1 and simplify this to 

x2 - 4x – 5 = 0
	
	

	
	I can solve cubic equations by drawing appropriate lines on graphs
	
	

	I need to practise …. 
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Grade C:  1 to 5 marks      


Grade B:  6 to 8 marks      

Grade A:  9 to 16 marks     


Grade A*:  17 to 18 marks

Name:


GRAPHS AND EQUATIONS: Grade A





Key descriptor: Use the points of intersection of a quadratic graph such as y = x2 - 2x - 4 with lines such as y = 2x + 1 to solve equations like x2 - 2x – 4 = 2x + 1 and simplify this to x2 - 4x – 5 = 0





Score: __________/18		Grade:______
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4a.	Show why the graphs of y = x2 + 1 and y = 2x + 2 can be used to find an estimate for the solutions of the equation x2 - 2x - 1 = 0. 














b.	On the axes below plot the graphs of y = x2 + 1 and y = 2x + 2 and hence find estimates for the solutions of the equation x2 - 2x - 1 = 0















































x = ________ and ________





5.	














Overall, for this homework I think my success level is: 
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Overall, for this homework I think my success level is: 











1a.	Complete the table of values for the quadratic function y = x2 + 2x - 1





x�
-4�
-3�
-2�
-1�
0�
1�
2�
3�
4�
�
y�
�
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�
�
�
�
�
�
�
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b.	On the axes below, plot the graph of y = x2 + 2x - 1


�





c.	Use your graph to find an estimate for the solutions of the equation 


x2 + 2x – 1 = 0


_____________________








2a.	




















b.

















3.	Match the cards into sets of three, so that each set contains an equation that can be solved by finding the points of intersection of the graphs of the other two functions. 





x2+x-3 = 0�
�
y = 3x+2�
�
y = x2-2x-4�
�
�
�
�
�
�
�
y = 2x+2�
�
x2-4x-6 = 0�
�
y = x2-3x+1�
�
�
�
�
�
�
�
x2-6x-1 = 0�
�
y = x2-4x-2�
�
y = 1-3x�
�
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2 marks





Total = 





_____/18














�





The diagram here shows the graph of y = 4x3 + 4x2 – x – 1.  What is the equation of the line that should be added in order to estimate the solutions of the equation 4x3 + 3x2 – 2x = 0 ?














_____________________








The diagram here shows the graph of y = 1/x (in red).  What equation does the point of intersection of the red and blue lines represent?





_____________________





Use the graph to estimate the solution of this equation





_____________________
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